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B Hett
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A A = A

we | PRHEE | Ghaw | oew) | cEE | swmeEx

ERFE=E m/ & 21,950,864 21,160,333 20,901,012 21,222,827 21,403,806
=TT I_:—’Jﬂ#%'é%% m:/B#FEﬁ 8,219 7,992 8,207 8315 8,364
REHERE m ./ B 0 0 0 0 0
FEA % 0.0% 0.0% 0.0% 0.0% 0.0%
FHEHEEE m./E 6,531,602 6,306,384 6,222,313 6,233,554 6,293,725
EETYT I:—’JH#%'SEE m:/B#FEﬁ 2,461 2,119 2,203 2,221 2,212
FENERE m ./ B 0 0 0 0 0
FEA % 0.0% 0.0% 0.0% 0.0% 0.0%
FHEHEEE m./E 11,664,308 14,530,930 23,046,773 23,618,767 24,105,858
@Y7 I_:—’Jﬂ#%'é%% m:/B#FEﬁ 5211 6,655 6623 6,955 6,953
REHERE m ./ B 0 0 0 0 0
FEA % 0.0% 0.0% 0.0% 0.0% 0.0%
FHEHEEE m./&E 40,146,774 41,997,647 50,170,098 51,075,148 51,803,389

A = |[EVBFES m./ B 15,891 16,766 17,033 17,491 17,529
- mEanre m. B 0 0 0 0 0
FEA % 0.0% 0.0% 0.0% 0.0% 0.0%




